(BAZ: 9,/ nd,| %)

EEMEE | T4 EEROFTE R ORI N EERSR | RIGFMF | ROFEANH | BEh
Fimko—2 BN AKX RIGELIT H25%5 [RKGE1—2—30) 540,000/ 550,000]  -1.8
FBTRS—3 | FETTRX | FIREB128T2789%1 106,000/ 107,000 -0.9
FrieHgs—4 FRTHEX | AHE14FT3138%6 91,500 91,600 —0.1
FRTFR5—5 BT ERK B ET73% 14 (5 RAT9—11) 117,000| 114,000 2.6
FBFSs5—6 [FEmHRRX HA2T H46%F2 HAHE2—2—14] 129,000/ 129,000 0.0
PriEFRs—7 |FETHREX |FEEFR4T H76185 EEF4—2—28) 87,000 87,000 0.0
FiEFRs—8 | FEmHREX [KLU3T H600ETS K3 —2—11] 208,000/ 207,000 0.5
FiEFes—9 FRMHEX |FRAE3ERS57EF 135} 115,000/ 115,000 0.0
FBPH5—10 FBm P ERX |[HEKXE1T H148% [FHAKE1—7—28) 223,000/ 225,000 -0.9
FBPIS—11 FBEmHPEX | EX)Ian@E6EI1206%2 149,000/ 150,000 —0.7
BB ds—12 [FETT P ERX [H2AmE1T B286% 14+ MHEZANRE1—33—21)| 114,000] 114,000 0.0
PR Hs—13 FBEmHEX | FR2TH1997F1 I5R2—3—6] 288,000|" 279,000 82
FriEhRs—14 [ FEH T AKX |EE2069% 225,000| 228,000 -1.3
BB F1 95— 15 Pl kK [ RIL3T A572%25k DRIL3—1—53) 283,000, 281,000 0.7
FriEHs—16 FRETHEX | HIELT H614%434 92,000 92,100 -0.1
BB R —17 BRI R EX | HETE2ERT530% 127,000/ 128,000 -0.8
FEhhs—18 [FRTHEX [FEHkE1T B436%6 IBHkE1—10—3)| 110,000 110,000 0.0
BFriEfRs—19 | FHETTRK |#XMEEST B856%E 14 [#XBE3—1—15] 105,000| 104,000 1.0
HETE—1  |FETmIEX | RESTH1090%13% [KE3—13—8] 47,900|. 47,600 0.6
HBIE—2 |FETIER |85 AK2T BZ215%229 BHA2—-18—9] 51,500 51,400 . 0.2
TRV —3  |EBTIIEK |5 T 352155 it R5—10—10) 20,400 20,000 2.0
FiEIE—4 |FEHIERK |HEhR2T B4617F9 kT R2—5—10] 43,100] 42,800 0.7
HBITE—5 |EEWIIERX | ZAK4TH1110%E23 [ AKR4—16—22) 32,000 32,000 0.0
|EFBITE—6 |FEwmILEK |5 T B1219%55 [HET5—5—26) 88,900| 87,100 2.1
PRI -7 |FRTIRKX |£E3T H3607%45 [45#3—-3—-13) 40,300/ 40,100 0.5
PRI —8 |FEMIIEK |fgE1T H1091%F10 MfE¥E1—2-3) 53,700 53,200 0.9
EITE—9 |HEmIER |AHETE1TH2404%3 [EEFE1—9—29) 52,100 51,900 0.4
BFEIRE—10 |FBHIEK MF ST H294% A IIS—1—7) 45,500 45,200 0.7
B —11 |FHERIER | KEFRE1912% 16,500 16,400 0.6
B —12 |BEWIERK |F@4T H955%1 [BE@4—5—12] 20,600 20,300/ - 1.5
FHEIIE—13 |FEWIER |E2TH169% /M22—3—-6] 11,800 11,900 -0.8
BRI —1 |FBTHIIEK  |[BERT3T B487%34) EEBRI3—9—15] 23,400| 23,100 1.3
FBITE9—2 |EBETHIIEX |[&EAXA2T B466% 15 [AHKH2—5—38] 27,400 26,800 2.2
FERIE—1 | HETHKER | EEFRFF133%70 32,100 32,300 -0.6
EKE—2  |FETKER |JKE2T H232%5 [#KE2—14—5] 49,500 49,500 0.0
FEKE—3 |FBRTHER |/RFEHR1802F 8,250 8,310 -0.7
BME—4  |HEmKER ||URET1TE35%1 ILART1—-10—20] 37,200 37,200 0.0
HEFKE—5  |FETHKER |EERT1T B373%1 [EET1—6—25] 38,400/ 38,800 -1.0
HERE—6 |FEHHKER |INEFFHE3473%F1 19,200 . 19,600 -2.0
|HBEHE—7 | FRTHKERX |SRIT2T H904F 114 T@RAT2 —7—43] 34,000 34,000 0.0
IrBKIE—8  |FETHKER |FEEE1926%60 [FdEs—11] 35,000 35,000 0.0
FEKIE—9 | HBTHER |EAT19%E2 ERI12—24) 21,700| 22,000 -1.4
FBKE—10 |FBHKERX |HiEART3T BH3315%F1 [FEARN3—19—10] 38,900 39,000 -0.3
HEKE—11 | FETHKEX EFNMEL75E15 25,700 25,500 0.8
FEKE—12 | FRETHKER [FRFESE12%ES - 24,700 25,000 -1.2
HEFKE—13 | FETHKER s E1T H5375%5 Wﬁfﬂil 6—23] 18,100 18,300 -1.1
HERE—14 |[FEHHER | L HITFERO05%F1 9,800 9,900 -1.0

B E—-15 |HETRERX | RUITER185%F1 13,400 13,600 -1.5
SIBETE—16 |FBTHHKER (FKE1T H3654%15 [FKFE1—27—24] . 18,200/ 18,400 L1
TEFKEES— 1 |ETRTKER | HriART2T B2938%F 14 [HEARRT2—5— 34J_ 53,800 54,800 -1.8
HEMIES—2 |[FIRmKERX /INAFFEHES62TE 23,900] 24,300 -1.6
FEMIE -3 | FETHKER |t EFRIE2015%5} 28,500/ ~ 28,600, 0.3
BBMIES—4 | FETHRER EANT6053F2[EART2— 71 16,500 16,700 -1.2
BB —1 gEmER | ETIHRHATFRIBLOEG 42,500] 42,800 -0.7
BRE—2 FEMERX | LHEET103%E1 [LEHET9—7] 27,100] 27,300 -0.7
FIBE—3 HETWERX BTERT1ITH1097%33 18,000/ 18,000 0.0
B —1 B T 7E X IR —DE6748%F9 62,700 62,500 0.3
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